Landmark Cases Project—Answer Key


___________Bush__________________  v.  __________________Gore___________________
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Who is the defendant in this case?  __________Gore_______________
Who is the plaintiff in this case?   ___________Bush____________________
What charges are being brought against the defendant?
Bush was trying to stop the re-count ordered by the Florida Supreme Court in the 2000 Presidential election.
Where did this case originate?   _____Palm Beach County, Florida___________
In what year did this case originate?   ____2000_______
In what year was this case heard by the Supreme Court?   _____2000_____
What was the majority opinion of the Supreme Court (winning side)?
There would be no re-count, as it was a violation of Florida statutory law.


How many justices held the majority opinion?   ____5_____
What was the dissenting opinion of the Supreme Court (losing side)?
Florida’s judicial system should make the decision, not the U.S. Supreme Court, since elections are a reserved power.

How many justices held the dissenting opinion?   ___4____
Why is this case considered a “Landmark”? How did it affect the United States?
The Supreme Court’s decision to not hold a re-count secured the Presidency for Bush.


____________Tennessee___________  v.  ____________Scopes____________________
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Who is the defendant in this case?  _______Scopes__________________
Who is the plaintiff in this case?   _______Tennessee__________________
What charges are being brought against the defendant?
Scopes is accused of violating state law by teaching evolution in a public school.

Where did this case originate?   ________Dayton, Tennessee______________
In what year did this case originate?   ___1925______
In what year was this case heard by the Supreme Court?   _1925_(Tennessee Supreme Court)__
What was the majority opinion of the Supreme Court (winning side)?
Scopes was found guilty of teaching evolution as the origin of mankind, in violation of Tennessee’s Butler Act.

How many justices held the majority opinion?   _unanimous jury_
What was the dissenting opinion of the Supreme Court (losing side)?
There was no dissent.


How many justices held the dissenting opinion?   ___0______
Why is this case considered a “Landmark”? How did it affect the United States?
The case raised questions at the national level about whether schools should teach the origins of humans. Today schools may teach both evolution and intelligent design as long as they are taught as theories and not as fact.


________Brown__________________  v.  _______Board of Education_________________
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Who is the defendant in this case?  ____ Topeka Board of Education_________
Who is the plaintiff in this case?   ________Oliver Brown_________________
What charges are being brought against the defendant?
Oliver Brown and 12 other African-American families are accusing the Topeka Board of Education of denying their children entrance into all-white schools in the neighborhood.

Where did this case originate?   _______Topeka, Kansas__________________________
In what year did this case originate?   ____1951________
In what year was this case heard by the Supreme Court?   ____1954_______
What was the majority opinion of the Supreme Court (winning side)?
That schools in the nation should be de-segregated, meaning that all races would go to school together. This also applied to all public facilities (buses, restrooms, movie theaters, restaurants, etc.).

How many justices held the majority opinion?   _____9_______
What was the dissenting opinion of the Supreme Court (losing side)?
There was no dissent.


How many justices held the dissenting opinion?   _____0______
Why is this case considered a “Landmark”? How did it affect the United States?
This decision overturned the Plessy v. Ferguson decision that had set the “separate but equal” precedent. Society was no longer to be separated by race.


_________Dred Scott___________  v.  __________Sandford_______________________
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Who is the defendant in this case?  ________Sandford__________________
Who is the plaintiff in this case?   _______Dred Scott_______________________
What charges are being brought against the defendant?
Dred Scott, a slave for the Sandford family in the slave-state of Missouri, sued for his freedom when the family moved to the free-state Illinois.
Where did this case originate?   ______Missouri___________________________
In what year did this case originate?   ____1850________
In what year was this case heard by the Supreme Court?   _____1857_______
What was the majority opinion of the Supreme Court (winning side)?
Scott was not free. Since he was not considered a citizen, he had no right to appeal to the U.S. legal system.

How many justices held the majority opinion?   _____7_______
What was the dissenting opinion of the Supreme Court (losing side)?
That the Supreme Court did not have jurisdiction to hear this case, nor did it have jurisdiction to make judgments about slavery being legal or illegal.

How many justices held the dissenting opinion?   _____2______
Why is this case considered a “Landmark”? How did it affect the United States?
Soon after the Supreme Court took this stance that supported slavery and involved itself in state-level affairs, the country fell into a Civil War.

___________Gideon__________________  v.  __________Wainwright____________________
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Who is the defendant in this case?  __________Wainwright____________________
Who is the plaintiff in this case?   _______Clarence Earl Gideon________________
What charges are being brought against the defendant?
Gideon is accusing Wainwright of the Florida Department of Corrections of denying him a lawyer in his trial. Gideon claimed that based on the 6th and 14th Amendments, he had the right to a lawyer.
Where did this case originate?   ______Panama City, Florida___________________________
In what year did this case originate?   ___1961_______________
In what year was this case heard by the Supreme Court?   ____1963________
What was the majority opinion of the Supreme Court (winning side)?
Gideon should have been given a lawyer in his court trial; therefore, his conviction was overturned and he was free to go.

How many justices held the majority opinion?   ____9________
What was the dissenting opinion of the Supreme Court (losing side)?
There was no dissent.


How many justices held the dissenting opinion?   _____0______
Why is this case considered a “Landmark”? How did it affect the United States?
Since this ruling, defendants in federal and state court trials must be provided a lawyer._________Hazelwood____________  v.  __________Kuhlmeier__________________
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Who is the defendant in this case?  ____Cathy Kuhlmeier_________
Who is the plaintiff in this case?   _____Hazelwood School District______________
What charges are being brought against the defendant?
Hazelwood School District appeals to the Supreme Court to re-consider a lower court’s decision that the school did not have the right to restrict what students printed in the school newspaper. 
Where did this case originate?   ________St. Louis County, Missouri_______________________
In what year did this case originate?   ____1983_________
In what year was this case heard by the Supreme Court?   ___1988______
What was the majority opinion of the Supreme Court (winning side)?
The school principal did not violate the students’ First Amendment right to free speech. Schools have the final say on what content may be printed to protect the rights of others and protect social values. 

How many justices held the majority opinion?   _____5_______
What was the dissenting opinion of the Supreme Court (losing side)?
The school violated the students’ First Amendment rights to free press.


How many justices held the dissenting opinion?   _____3______
Why is this case considered a “Landmark”? How did it affect the United States?
Schools maintain the right to control what is printed in school publications.
____________Korematsu______________  v.  _________United States_________________
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Who is the defendant in this case?  ______United States government__________
Who is the plaintiff in this case?   _____Fred Korematsu_________________
What charges are being brought against the defendant?
Korematsu appealed his conviction for defying the order for all people of Japanese decent to enter an internment camp during World War II.
Where did this case originate?   ______San Leandro, California_____________________
In what year did this case originate?   ____1942_________
In what year was this case heard by the Supreme Court?   ____1944______
What was the majority opinion of the Supreme Court (winning side)?
The government’s need to protect the country against espionage outweighed the individual rights of Fred Korematsu.

How many justices held the majority opinion?   _____6_______
What was the dissenting opinion of the Supreme Court (losing side)?
This was an act of racism committed by the United States government. U.S. defense measures should never violate the constitutional rights of citizens.

How many justices held the dissenting opinion?   _____3______
Why is this case considered a “Landmark”? How did it affect the United States?
This is the first time “racism” was examined in considering government actions. In 2011 the Supreme Court issued a statement that they were in error, and U.S. citizens could not be illegally imprisoned.
___________Marbury_____________  v.  _________Madison__________________________
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Who is the defendant in this case?  _______James Madison______________
Who is the plaintiff in this case?   ______William Marbury_________________
What charges are being brought against the defendant?
Marbury asked the Supreme Court to enforce his appointment as District Court Judge, given to him by President Adams at the end of Adams’ term. 

Where did this case originate?   ________Washington D.C._____________________________
In what year did this case originate?   ____1801________
In what year was this case heard by the Supreme Court?   ___1804________
What was the majority opinion of the Supreme Court (winning side)?
That Marbury had the right to his appointment, but that the Supreme Court did not have jurisdiction to enforce the appointment.

How many justices held the majority opinion?   _____4_______
What was the dissenting opinion of the Supreme Court (losing side)?
There was no dissent.


How many justices held the dissenting opinion?   _____0______
Why is this case considered a “Landmark”? How did it affect the United States?
In deciding this case, the Supreme Court found Congress’s Judiciary Act of 1789 to be unconstitutional. This was the first time that the Supreme Court had found an act of Congress to be unconstitutional. This case is credited with establishing the principle of judicial review.


___________________in re Gault___________________
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Who is the defendant in this case?  ____Children’s Detention Home________
Who is the plaintiff in this case?   _____Gerald Gault’s family____________________
What charges are being brought against the defendant?
Gault’s family brought charges against the Children’s Detention Home for refusing Gerald due process rights, including being told his charges, facing his accuser, and a fair trial.
Where did this case originate?   ______Gila County, Arizona_____________________
In what year did this case originate?   ____1964________
In what year was this case heard by the Supreme Court?   ____1967_____
What was the majority opinion of the Supreme Court (winning side)?
Gault’s 14th Amendment rights had been violated because he was denied due process, including not being told his charges, not being told his rights, not receiving a fair trial, and not being allowed to appeal.

How many justices held the majority opinion?   _____8_______
What was the dissenting opinion of the Supreme Court (losing side)?
Procedural safeguards for suspects under arrest should not apply to juveniles, since the purpose of juvenile detention is correction of their behavior.

How many justices held the dissenting opinion?   _____1______
Why is this case considered a “Landmark”? How did it affect the United States?
This case set the precedent that juveniles should receive the due process rights described in the Constitution.
_________Miranda________________  v.  _________Arizona___________________________
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Who is the defendant in this case?  _____State of Arizona______________
Who is the plaintiff in this case?   ______Ernesto Miranda___________________
What charges are being brought against the defendant?
Miranda is accusing the Arizona police of questioning him when he did not know of his right to remain silent and not incriminate himself.

Where did this case originate?   _______Phoenix, Arizona_______________________________
In what year did this case originate?   ___1963__________
In what year was this case heard by the Supreme Court?   ____1966_______
What was the majority opinion of the Supreme Court (winning side)?
If a suspect is not told their rights, then their confessions cannot be used in court trials against them. Suspects must be told of their right to remain silent and to have a lawyer present during interrogation.

How many justices held the majority opinion?   _____5_______
What was the dissenting opinion of the Supreme Court (losing side)?
The Constitution does not state that a person must be informed of their rights before they can be questioned. This “rule” was made up by the Supreme Court.


How many justices held the dissenting opinion?   ____4_______
Why is this case considered a “Landmark”? How did it affect the United States?
Today law enforcement officers read suspects their “Miranda Rights” at the time of arrest to ensure that suspects are informed of their Constitutional rights.


____________Plessy__________________  v.  ________Ferguson________________________
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Who is the defendant in this case?  _____Judge John Ferguson_______________
Who is the plaintiff in this case?   _____Homer Plessy__________________
What charges are being brought against the defendant?
Plessy appealed his conviction after being arrested for sitting in a “white” railcar, since he was considered to be black.
Where did this case originate?   ________New Orleans, Louisiana_________________________
In what year did this case originate?   ___1892________
In what year was this case heard by the Supreme Court?   ____1896______
What was the majority opinion of the Supreme Court (winning side)?
The state of Louisiana was not violating the Constitution by separating races when they passed the state law known as the “Separate Car Act”.

How many justices held the majority opinion?   _____7_______
What was the dissenting opinion of the Supreme Court (losing side)?
The Constitution is “color-blind” and black people should not be subjected to discrimination.

How many justices held the dissenting opinion?   _____1______
Why is this case considered a “Landmark”? How did it affect the United States?
This case established the nation’s “separate but equal” policy, allowing states to keep races separated as long as the public accommodations for each race were equal.


_______________Roe___________________  v.  ___________Wade____________________________

[image: http://t0.gstatic.com/images?q=tbn:ANd9GcQ6zfrOsTeBySeEcgTVIVBc1YT1VHC8hEUPE7s2a7CAp468p-qeDIKlRCUJ:www.toptenz.net/wp-content/uploads/2012/03/blindjustice.jpg]
Who is the defendant in this case?  ______District Attorney Henry Wade_____________________
Who is the plaintiff in this case?   _____Norma McCorvey (under the name of Jane Roe)_________
What charges are being brought against the defendant?
“Roe” is appealing to the Supreme Court against Wade (who represented Texas) for denying her an abortion since it was illegal under Texas law.
Where did this case originate?   ______Dallas, Texas___________________________
In what year did this case originate?   ___1969_________
In what year was this case heard by the Supreme Court?   ___1973_______
What was the majority opinion of the Supreme Court (winning side)?
Abortion is a fundamental right under the United States Constitution; therefore, states could not make a law against it.

How many justices held the majority opinion?   _____7_______
What was the dissenting opinion of the Supreme Court (losing side)?
Each state should be allowed to decide for itself whether abortion will be legal in that state.


How many justices held the dissenting opinion?   _____2______
Why is this case considered a “Landmark”? How did it affect the United States?
This case set the precedent that abortion would be legal in all of the United States.
______________Texas________________  v.  ____________Johnson____________________
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Who is the defendant in this case?  ____Gregory Lee Johnson____________
Who is the plaintiff in this case?   ______State of Texas________________
What claims are being made by the plaintiff in this case?
Johnson was accused of “desecration of a venerated object”, in violation of Texas law, when he burned a U.S. flag to demonstrate protest against President Reagan’s policies.

Where did this case originate?   _____Dallas, Texas____________________________
In what year did this case originate?   __1984__________
In what year was this case decided by the Supreme Court?   __1989_________
What was the majority opinion of the Supreme Court (winning side)?
Johnson’s flag burning was a protected form of speech under the 1st Amendment. Also, the group protest was a protected assembly under the 1st Amendment since it did not result in rioting or disturb peace.

How many justices held the majority opinion?   ______5______
What was the dissenting opinion of the Supreme Court (losing side)?
The United States flag is a unique symbol of freedom and should not be allowed to be desecrated.

How many justices held the dissenting opinion?   _____4______
Why is this case considered a “Landmark”? How did it affect the United States?
Despite several attempts by Congress to make flag-burning illegal, it today remains a protected form of speech under the 1st Amendment rights.


________Tinker__________________  v.  _______Des Moines______________________
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Who is the defendant in this case?  __Des Moines Independent Community School District_
Who is the plaintiff in this case?   ____Tinker family__________________
What charges are being brought against the defendant?
Mary and John Tinker accused the school district of suspending them for expressing their opinion, violating their 1st Amendment right to free speech. The Tinkers wore black armbands to school in protest of the Vietnam War.
Where did this case originate?   ______Des Moines, Iowa__________________________
In what year did this case originate?   ___1965__________
In what year was this case heard by the Supreme Court?   ___1969_______
What was the majority opinion of the Supreme Court (winning side)?
The Tinkers’ wearing armbands to protest the Vietnam War was a protected form of symbolic speech under the 1st Amendment, even in school.

How many justices held the majority opinion?   _____7_______
What was the dissenting opinion of the Supreme Court (losing side)?
The school should have the authority to discipline the students since their wearing of the armbands could have distracted students from their studies and resulted in disorder in school.

How many justices held the dissenting opinion?   ____2_______
Why is this case considered a “Landmark”? How did it affect the United States?
Students’ rights to freedom of expression, particularly symbolic speech, are protected in school.

________United States___________  v.  ______Nixon__________________
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Who is the defendant in this case?  ___President Richard Nixon___________
Who is the plaintiff in this case?   ____United States________________
What charges are being brought against the defendant?
The United States was investigating the Watergate scandal in which five men broke into and bugged the Democratic National Headquarters just before President Nixon would run as the Republican candidate in the next election. Nixon was withholding tapes that might prove his involvement in the scandal.
Where did this case originate?   ____Washington D.C._________________________
In what year did this case originate?   __1972__________
In what year was this case heard by the Supreme Court?   ___1974______
What was the majority opinion of the Supreme Court (winning side)?
Nixon must turn over the tapes to the United States District Court. 

How many justices held the majority opinion?   ______8______
What was the dissenting opinion of the Supreme Court (losing side)?
There was no dissent.


How many justices held the dissenting opinion?   _____0______
Why is this case considered a “Landmark”? How did it affect the United States?
This case established that the President is not immune to all legal proceedings under “executive privilege”; the Supreme Court can decide when Constitutional “executive privilege” applies.
Fifteen days later, President Nixon became the only President ever to resign. His Vice-President, Gerald Ford, took over to finish the remaining 2 ½ years of the term.

_________United States__________  v.  _______Susan B. Anthony__________________
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Who is the defendant in this case?  ____Susan B. Anthony_______________
Who is the plaintiff in this case?   ____United States______________
What charges are being brought against the defendant?
Anthony is accused of illegally voting since she was a woman. Anthony claimed that since she was a U.S. citizen, the Constitution gave her the right to vote.

Where did this case originate?   _____Rochester, New York________________________
In what year did this case originate?   __1872__________
In what year was this case heard by the Supreme Court?   ___1873________
What was the majority opinion of the Supreme Court (winning side)?
The case remained in U.S. District Court and was not appealed to Supreme Court, as Anthony refused to pay the fine that could result in appeal.

How many justices held the majority opinion?   __jury verdict of guilty__
What was the dissenting opinion of the Supreme Court (losing side)?
There was no dissent.


How many justices held the dissenting opinion?   __jury verdict of guilty__
Why is this case considered a “Landmark”? How did it affect the United States?
This case, and several other like it, brought women’s suffrage to the forefront as a national issue. In 1920 Congress passed the 19th Amendment, giving women the right to vote.
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